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*ﬁi,];ﬂg TREOBBOEILADKES TREDHBSILEADKRES TREOBBOEILADKRES TREFOHBEEILNDOKRES
2 B 4 a2 | FimhoniEE ﬂch%é X 4 ‘Fﬁﬁh\‘BO)mfF =S ﬂch%é X 4 a2 | ks sntts bwk%é X 4 Limhonlks | 3 bwk%ﬁ
(m) (m) (kN/m) EE B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
; 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZE#BZ 3 -~ — — -
ZzhnLst 1.00 | 0.00 ~ 471 58.69 | Ths | 0o0 ~ 471|182 9.72 ZzhnLst 1.00 | 5.00 ~ 5.00 5869 | TnLS | 5.00 ~ 500 1.82 9.72
2 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZEHBZ 3 -~ — — -
ZzhnLst 1001000 ~ 474 59.10 | =hst | 000 ~ 000|166 891 ZzhnLst 1.00 | 5.00 ~ 5.00 59.10 | =nLS | 5.00 ~ 5.00)| 1.66 8.91
P 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZE#BZ 3 -~ — — -
ZzhnLst 1001000 ~ 477 59.40 | =hst | 000 ~ 000 1.69 9.06 ZzhnLst 1.00 | 5.00 ~ 5.00 59.40 | =ns | 500 ~ 5.00)| 1.69 9.06
P 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZEHBZ 3 -~ — — -
ZzhnLst 1001000 ~ 483 60.18 | TS | 000 ~ 000 1.68 8.98 ZzhnLst 1.00 |1 5.00 ~ 5.10 60.18 | =nLS | 5.00 ~ 5.10) 1.68 8.98
5 100kN/m#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mEBZ3 -~ — — -
ZzhnLst 1.00 | 0.00 ~ 549 68.564 | TS | 000 ~ 000 1.59 8561 ZzhnLst 1.00 | 5.00 ~ 6.40 68.64 | TnLS | 6,00 ~ 6.40 ] 1.69 8.51
¢ 100kN/mM#%#BZ % — -~ - —|3mEEZB| — ~ — — — | 100kN/mMi%# %3 — -~ — —|3mZEBZ3 -~ — — -
ZzhnLst 1.00 1000 ~ 566 70.71 | =S | 000 ~ 0.00)] 1.59 8.50 ZzhnLst 1.00 1 5.00 ~ 6.70 70.71 | RSN | 600 ~ 6.70 ] 1.69 8.50
100kN/ Mm% % % ~ 3ImEBZD ~ 100kN/m%#Z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEBZD ~ 100kN/m%#Z 5 ~ ImEEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ ImEBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/m#E#8Z % ~ ImEBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/ Mm% % % ~ 3ImEBZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Zhst ~ ZhLst ~ Zh s ~ ZhLst ~
100kN/m#E#BZ % ~ ImEBZD ~ 100kN/m%#Z 5 ~ ImEEZD ~
Zzh st ~ Th s ~ Zzh st ~ Zzh s ~
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